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1 ROBREZETRINAER | 1) 2+j2v3=107
BERBEERE (rd’) TRY. (=
L, nm<0<7m)&T 5. (12) —2v3 +j2 =407
Bl 1+jV3 =268
(1) 4—j4=4V2e 5 (13) —4 —j4 = 4v/2e77
(2) 2v3 +j2 = 4¢'5 (14) 3v6 +j3v2 = 61/2/5
(4) j4 =4 (16) —5v2 + j5v/6 = 10v/2F
(5) —j4=4e73 (17) —V2 —jV6 = 2v/2e 775
(6) 2v3 = 2v/3¢l° (18) —2v/15 +j2v/5 = 4/50
(7) —2v3 =2V3c" (19) V8 —jv/24 = 41/2¢75
(8) 2V3 —j2 =4e 6 (20) V24 —jV/8 = 4v/2¢775
(9) —3v2—j3v2 =6e 7
(RSB 3 < )
(10) —5v3+j5 = 106/




RODOMBEETRINZERE | 1) 20T = V2 V2
HFEXEZETRE.

Bl 2¢7% =1+jV3 (12) 106/%F =5 — j5v/3
= 53 5
1 J6 = — 1—
(1) 5e's = —— +j3
(13) V2e 3% = —f - \f

(2) 4e71F = —2—j2/3

(5) 4" = —4
(17) 5e % = —j5
. 5 5v/3
6) 5% — 2 oV
(6) 5e's 5 175
(18) 5el% = —j5
= = 3
(7) 5ot = {5v3

’ (19) VBIF = —v2 - V6

(20) V8e T =242
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